SHAEEFE (FEEIM) FHFE/OT/ DiRERRE (BEERR1/2E)
£M54£3/8208
pith::| INRUFR
5 Ees | BAsR | A | Exe | ZR# | ASF
R NET 3495 232.7 582.2 223.2 132.9 356.1
Bix 5.6 1.0 6.6 4.0 0.6 4.6
-BRZ(ERA) 3.4 1.0 4.4 2.8 0.6 3.4
GN-T RER 2.2 2.2 1.2 1.2
&Et 355.1 233.7 588.8 227.2 133.5 360.7
(1)&RBBRESE
pith::| INRUFR
R Ees | BAsR | A | @Exe | ZRs# | ASF
3L 7.8 6.9 14.7 2.1 4.5 6.6
RE#H 7.1 8.0 15.1 3.8 10.6 14.4
iR AT 30.3 9.3 39.6 0.0 12.4 12.4
&+ iR BT 1.1 1.0 21 1.6 1.0 2.6
BHAh 0.1 0.0 0.1 0.0 0.0 0.0
+= 0.1 0.0 0.1 0.2 0.0 0.2
Tl 11.2 4.0 15.2 2.7 4.5 7.2
INA 30.5 9.7 40.2 5.2 16.3 21.5
= 43.8 37.6 81.4 9.0 0.9 9.9
BERS A 1.3 12.6 13.9 1.6 0.1 1.7
VA 0.0 0.0 0.0 0.0 0.0 0.0
N ET 1.0 0.0 1.0 1.1 0.0 1.1
fEHH 1.9 0.3 2.2 1.1 0.1 1.2
mE 17.7 5.4 23.1 1.7 0.3 2.0
PN 148.3 110.9 259.2 6.9 3.9 10.8
R\ R (B 5/ 7.0 0.8 7.8 0.1 0.0 0.1
RS EM) 1.2 0.2 1.4 1.1 0.0 1.1
RRETRES) 1.9 0.0 1.9 1.1 0.0 1.1
R KHHET 17.3 7.1 24.4 0.7 3.2 3.9
RE1RIE 0.0 0.0 0.0 0.0 0.0 0.0
4 0.7 0.0 0.7 1.0 0.0 1.0
=B 0.0 0.0 0.0 0.0 0.0 0.0
SE: 1.0 0.0 1.0 0.9 0.0 0.9
A 1.3 0.0 1.3 0.7 0.0 0.7
=R 1.2 0.0 1.2 0.1 0.0 0.1
(= 2.8 0.3 3.1 0.9 0.0 0.9
&) 336.6 2141 550.7 43.6 57.8 101.4




Q)EERE (B ERR2/2H)
pith::| INRUFR
i Bt | ZR&H | AEF | @Egp | SR | AL

PNLf L 0.0 0.0 0.0 0.0 0.0 0.0
o 0.0 2.7 2.7 25.1 16.5 41.6
E&# 0.0 0.0 0.0 0.0 0.0 0.0
HigmHET 0.5 1.9 2.4 84.0 421 126.1
5+ iR ET 0.0 0.0 0.0 0.0 0.0 0.0
Hf 0.0 0.0 0.0 0.0 0.1 0.1
+= 0.0 0.0 0.0 0.0 0.0 0.0
TR 0.1 0.0 0.1 0.1 0.0 0.1
INE 0.0 0.0 0.0 0.0 0.0 0.0
= 0.0 0.0 0.0 0.0 0.0 0.0
s ik 0.0 0.0 0.0 0.1 0.0 0.1
{EFHH 0.3 0.0 0.3 0.6 0.0 0.6
EUF 0.0 0.0 0.0 0.0 0.0 0.0
K 0.0 0.0 0.0 0.0 0.0 0.0
JEL R S (e S) 0.0 0.0 0.0 0.0 0.0 0.0
ERHE(SEM) 0.0 0.0 0.0 0.1 0.0 0.1
ERMETRS) 0.0 0.0 0.0 0.1 0.0 0.1
K HET 0.1 0.0 0.1 1.2 0.2 1.4
BAR R 0.1 0.0 0.1 0.1 0.1 0.2
aF 0.0 0.0 0.0 0.0 0.0 0.0
B4 0.1 0.0 0.1 0.1 0.0 0.1
=B 0.0 0.0 0.0 0.0 0.0 0.0
RE 4.6 4.8 9.4 25.8 5.5 31.3
R 0.8 6.4 7.2 33.2 9.1 42.3
=y H 0.0 0.3 0.3 1.6 0.1 1.7
INBEFIR 0.1 0.0 0.1 0.1 0.0 0.1
=7 0.1 0.0 0.1 0.2 0.1 0.3
pi=| 0.8 0.1 0.9 1.1 0.2 1.3
TR B K 1.0 0.6 1.6 1.0 0.4 1.4
TR 0.1 0.1 0.2 0.2 0.0 0.2
=Rt 1.1 0.4 1.5 0.9 0.5 1.4
BRHE 0.0 0.0 0.0 0.1 0.0 0.1
ailll 0.0 0.0 0.0 0.1 0.0 0.1
IR &L 0.0 0.0 0.0 0.1 0.1 0.2
I\F 0.1 0.0 0.1 0.1 0.0 0.1
I\FHREE 25 1.3 3.8 34 0.0 34
B 0.5 0.0 0.5 0.2 0.1 0.3

=5 12.9 18.6 31.5 179.6 75.1 254.7




